SA IR A ST AR 0 A o

101531}%15%125315%&&#%2%

BB £% .a.h,m w7 e
ERMIEAGESD B = S 1,703,000
RS (—HR) 7.956,479
FERUIEA R D) 235.653
BUNREED e e S 06,284,841
BREREED ~ 008,301
ﬁ B A 5,731

B i s 23,063
F%—E%rﬁkllﬁz)\(-—ﬂz): HESE 1,258,366
ERFERIEAE T —{ T 1 & 6,000
HYEEE A : e GaRE TE 87.597
BRI e e 286.743
I EE S e -
WA SET 38,755,774
ELEE 18,757,736
hEE 700,004
B 2Rl
EPRER 877.474
B TiEF] 344,740
SR 195,221
HRANE 156,663
KEE 517499
= 1376 122
EEE 375,385
ElRIZE 153,556
(o 192,853
AEE 6,393,010
=Ry 294,882
HibE A 31,572
=4 90943
BEEE 41,260
NS 170,966
ey 1,835,628
sy 330,962
RIBEER) 10,494
FESE 1,220,141
K IEHEH =
BT3RS 917,394
hnEEE 410,369
2/ Neh 36,285,874
7 HASS A (R 2,469,900
EriSfiE A 11,012
AHHERMIGRTR) 2,458,888

( P LEX 2

\on Sf
LFWRET

b7 BUF RBUR




T —

MEEAGT t"ﬁ%’%gﬁﬁﬁbﬁm
EEAER

% =v.§i

R e~ S A

- EERE1014E12 A3 LS _: _
Mﬁﬁ | S| & Ei0 “'Iv Z‘?—]"’Z}l-:;_ @gg
gﬁ‘g\{)m@ﬁ EPE T : .
W 807 |FEHAEEK ¢ = :-1,200,000
R 2,587,648 f’éﬁ%)ﬁ == M 1.224.830
e i— LLTo1 BRI £12,716,639
REIR I 19,966 |(UIL[FI T 25 @ﬁ% =G 46,785
ST 5,550,809 mﬂtfﬁﬁ?éf 2,580,482
— == 140,127 | Z5eREY © 808,234
155 17,587 |Hiek & 950,000
B EEEE 4,205,413
e - - [P 8,651,653
= i 8,815,695 |BAER L MEAK-FAA 1,663,380
Bl & R A e SN 42,819
AH E YR B 092,250 |Brh L v B 2.028.845
ZEHTE SRR - 760,725 |[E AR5 45,000
P 4,053,955 | & =t 36,164,080
ﬁ’f‘é‘ﬁ!ﬁﬁ 2,580,482 HEE R Eril
FETHES 433,676 |EikE4S 625,000
Eaﬂﬁ% e - 433,676 |E LBl EREEE 4,053,955
REYS 808,234 |iEEEEE 5,143,500
EEERA (1,503,019
ZHHERAN 2,458,888 |
= = 7,674,196
Hith&E =
TR 1,101,764
EEHEEEAEZR 12,716,639
EERER 3R 4205413
Bt 12K 8,651,653
EAch ATEZR 1,663,380
BAATETER 42,819
B pKEITESR 2,028,845
E%?ﬁﬁﬁ 42,000 -
= 30,452,513 | & B 10,778,324
g@%ﬁ & 46,942,404 | &R BRRAREAR | 46,942,404
R b g : 2 =
3% Aty g




